i

AN
T

M4 E AN 75 B im B ERK P AR TR R MR X 75 (KR F2ME])

S5 BAR S

15

B

BLEEXH
MEREEXE
BEEXE

BLRIER
BEREERBREXE

IE%E

180122007



(HHEEC)

@t kB R _ w B ¥ ¥ &
KAYHR - A HE - /Ny dR B INOICEEINIT QR @=0+@ & o Koy¥a P FE /N A [OIERINGE S s B
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EEAKGGRAE )R #%) ] 2 182,567 365,134 |[ftffiz-19
KGR (D A ER) [ 0 182,567 0 |[f&ffizz—20
7 KA ()R> Z23E) [A] 1 181,468 181,468 |{tffizz-21
KA (DI HE) E] 2 182,022 364,044 |ftAfizz-22
BKRAEGE R BH) E] 21 182,575 3,834,075 |{tfffizz-23
KA (D) (4 W) E] 3 182,575 547,725 |{%Afiz-24
KR (D) (FE 1E g k) E| 30 185,622 5,568,660 |{tffi#-25
EARREOGEREHE) E] 6 182,575 1,095,450 |{tffi#-26
KA (2) (i FH #8) ] 1 22,600 22,600 |fiflizE-32
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RmzE 1 = AR 1 2%y
£ i JRES . AR HAL | = il & % i o
Fhm (A) A 0.5 51,200 25,600
Hhm (C) A 1.5 32,800 49,200
LR % 1.0 (74,800) 748 |EENEE D
& &t 75,548 75,548
Rz 2 = FHT INEEY
va i JRES . AR HAL | & & il & % i E2
il (A) A 0.5 51,200 25,600
Hhm (C) A 0.5 32,800 16,400
& 32 42,000 42,000
Rz 3 = S e A 1 #&40
4 PR R AR HAL | & & il 4 #H i C:3
Hehim (A) A 0.5 51,200 25,600
FhM (C) A 1.0 32,800 32,800 |PNZE0.5% 5T
=55 H % 1.0 (58,400) 584
= & 58,984 58,984
AR 4 = BRI (DT B HE) 1 [|(1.0H)%4Y
4 PR R AT BN & il & #H i C:d
A 1= A 1.0 44,510 44,510 |kt
K L ES D270PSHY 3~5tf H 0.5 169,908 84,954 | (FEIHE)
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(WiER



Rz 31 = EKFRECT BEHEE =) 1 [B(1.0 H)X%4Y

£ i JRES . AR HAL | = il & % i o
B A= A 1.0 44,510 44,510 |FFEKt
K E S D270PS%Y  3~5tff H 0.5 173,674 86,837 | (FRIMsHEA)
T K ARt D270PSHY 3~5tfhH H 0.5 132,221 66,110 | (T EIPME)
HEA A} % 0.5 (197,457) 987

& &t 198,444 198,444
Rz 5 = TGRS (1)AE TN HE (RS [X) ) 1 [E(1.0H)%4Y
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& 32 181,970 181,970
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HEM % 0.5 (181,375) 906
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AR 17 = T K AR AL (1) (A TS = L i) 1 [E(1.0H)%4Y
va i JRES . AR HAL | & & B il & % i E2
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TR A it A D270PSHY  3~5tfhH H 0.5 115,869 57,934 | (REAHE. \FoHE, AT HTER)
HER B % 0.5 (181,375) 906
& 32 182,281 182,281
RAfzR 18 = KA (DB HR) 1 [|(1.0H)%4Y
4 PR R AR HAL | & & B il 4 BH i C:3
EER NS A 1.0 45,310 45,310 |{EK L
K M ES D270PSH! 3~5t H 0.5 157,132 78,566 | (BIFHE, Roy#k, FEfaPs)
T /K it D270PS%Y  3~5tf H 0.5 115,566 57,783 | (BUNFHE, KAy #E, £E1BHY)
HEM B % 0.5 (181,659) 908
= F 182,567 182,567
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HEM L % 0.5 (181,659) 908
& & 182,567 182,567

ey



Az 20 = KA (D)W a k) 1 [H(1.0H)%4Y
£ i JRES . AR HAL | = il & % i o
FEE Ko A 1.0 45,310 45,310 |#FEK =t
K E S D270PS%Y  3~5tff H 0.5 157,132 78,566 | (B HE, R e, 1A Es)
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& & 182,575 182,575
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FEE RV A 1.0 45,430 45,430 |kt
K E S D270PSHY  3~5tff H 0.5 160,215 80,107 | (F51E e )
TR A it A D270PSHY  3~5tfhH H 0.5 118,324 59,162 | (f51& Wi +)
HER B % 0.5 (184,699) 923
& 32 185,622 185,622
RAfER 26 = KR () GEAR EHE) 1 [|(1.0H)%4Y
4 PR R AR HAL | & & B il 4 #H i C:3
HEE B 1.0 45,430 45,430 |kt
K M ES D270PSH! 3~5t 0.5 156,726 78,363 | (FEVE Bk - 44 Wa s S S H)
T /K it D270PS%Y  3~5tf 0.5 115,748 57,874 | (FEIE Bk - 4 Wik - A 5 HR)
HER B % 0.5 (181,667) 908
= F 182,575 182,575
Az 32 = PR AT (2) (X FH #8) 1 [|(1.0H)%4Y
4 PR R AT BN & B il & #H i C:d
AR i [ A 0.5 45,200 22,600 At
= & 22,600 22,600

AR



Rz 27 & HEELDEED 10 [A124D)
£ i JRES . AR HAL | = H il & % i
Fhm (C) A 1.7 32,800 55,760
LR % 1.0 (55,760) 557 |IEEE NAFE D
& & 5,631 56,317
Az 28 = EBRCR L E 1 A%y
£ g RS AR~TE BN = H il & %R i
EBA L E = 1.0 38,000 38,000
a5 & 38,000 38,000
Az 29 = B KA 1 A%y
£ g JRES . AR HAL | = H il & % i o
B (K EER) = 1.0 510,614 510,614
& & 510,614 510,614
AR 30 = i B (S AR EE) 1 A%y
) i JRES . AR HAL | & B il & B i E2
Ji B (52 Jit ) ) = 1.0 562,170 562,170
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T K o fi e s

K i

(T Ba#)
Hf = 1 5 oK s s 1 B 470
% B AR - SHE B | % & HL Al & %A i 2
FRREL g (S ) L 129.0 105.9 13,661 |11 I
K HEE IS A 0.2 38,700 7,740
B AGEE B IS A 1.0 29,900 29,900
BKERE IS A 1.0 29,000 29,000
THE IR H 1.0 13,000 13,000 |D270PSH! 3~5t i
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
B E P T BRI % 25.40% 111,701 28,372
—RE B T BHHE % 21.30% 140,073 29,835
a5 169,908 169,908 66,640
(TEI#E)
A F 25 K AR A BEF 1 B 470
% R JEAR - < B B &= H Al & KA i B
KGR & A 0.2 38,700 7,740
KA B Ii]S] A 1.0 29,900 29,900
BAKERE Ii]S] A 1.0 29,000 29,000
HHE fHEH H 1.0 18,400 18,400 |D270PST 3~5t i
B s B NS % 25.40% 85,040 21,600
— % B NS % 21.30% 106,640 22,714
o & 129,354 129,354 66,640
(T BaVEE )
HAf R 3 7 K L Els Ml 1 H Y7
% B JER - STk B | &% & H M & K i B
TRk 2 (ki) L 129.0 105.9 13,661 |11 I
KGR ii]s] A 0.2 38,700 7,740
B AKGEE B IS A 1.0 29,900 29,900
BKERE IS A 1.0 29,000 29,000
Ei-Us TR H 1.0 13,000 13,000 [D270PSHY 3~5tff
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t
By B T B+ % 28.18% 111,701 31,477
—E P T B % 21.30% 143,178 30,496
& & 173,674 173,674 66,640
(T BA#&IE )
HAfFE 4 7= K AR i 1 B 47D
% FR AR - STiE H hr | %% & H A & FH i B
K a1 IS A 0.2 38,700 7,740
KIS B iis] A 1.0 29,900 29,900
BAKERE Ii]E] A 1.0 29,000 29,000
HHE e H 1.0 18,400 18,400 |D270PSH! 3~5t i
B E P T B % 28.18% 85,040 23,964
—RE B T B % 21.30% 109,004 23,217
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T K s (AETLIN HE, i HE)
Hf R oK s 1 H 47p
R - STk B & H M 4 KA i 2
TRk 2 (ki) 129.0 106.9 13,790 [#& [ U=
KGR 8 [if] 0.2 39,300 7,860
B AKGEE B A8 [if] 1.0 24,900 24,900
BKEXE & [if] 1.0 25,300 25,300
Ei=Us TR 1.0 13,000 13,000 [D270PSHY 3~5t
THE HEH 1.0 18,400 18,400 |D270PSH! 3~5t i
By B AL TUIN A - R 2 25.40% 103,250 26,225
— RE B LIk - 2 21.30% 129,475 27,578
& & 157,053 157,053 58,060
TE K ik (AbETLIN HE, i Hk)
HAf R Tk A 1 H 47&b
4 JER - STk B &= H M B i 2
K EETR 8 [if] 0.2 39,300 7,860
B KEE B 8 [if] 1.0 24,900 24,900
BKERE 8 [if] 1.0 25,300 25,300
B HEH 1.0 18,400 18,400 |D270PST 3~5t i
B s B ALTUMN S - 1 25 25.40% 76,460 19,420
—E B AL TUMN & 5 2 21.30% 95,880 20,422
o 116,302 116,302 58,060
WK A E i (= FH %)
EERIES oK s 1 H M7b
R - STk B & HL Al & %A i 2
FRE g (S ) 129.0 106.9 13,790 [& i U7
KGR 8 [if] 0.2 39,300 7,860
BAGHEKE B 15 ] 1.0 24,900 24,900
BKiERE 8 [it] 1.0 25,300 25,300
THE LR 1.0 13,000 13,000 |D270PSH! 3~5t i
THE HEH 1.0 18,400 18,400 |D270PSH! 3~5t i
B E P — L - X 24.90% 103,250 25,709
—RE B — Lk - Xij 21.30% 128,959 27,468
B 156,427 156,427 58,060
T K ik (=, X )
AR 6 = K AR A BEF 1 B 470
4 B FER - < Hfr B &= H M & KA i B
KGR 8 [if] 0.2 39,300 7,860
B KEE B 8 [if] 1.0 24,900 24,900
BAKERE 8 [if] 1.0 25,300 25,300
B fHEH 1.0 18,400 18,400 |D270PSH! 3~5t i
B s B — i - XIj 24.90% 76,460 19,038
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T K A s
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T K - fi i s

K AR A

(FEHEHE)
A & 75 oK iy iR 1 B MY
% FR JEIR - ST H ¥ = H il & 7l i B
TRk ey (Ha ) L 129.0 109.9 14,177 [1EE IR
KGR RS A 0.2 39,400 7,880
B AGEE B =S A 1.0 24,900 24,900
Bk EAE (R A 1.0 25,300 25,300
HE TR H 1.0 13,000 13,000 |D270PSH! 3~5t
R HEH E 1.0 18,400 18,400 |D270PSH! 3~5tfh
B B JERE S % 24.90% 103,657 25,810
— R B R % 21.30% 129,467 27,576
& i 157,043 157,043 58,080
(R )
B =2 8 & K AL e 1 B 7w
4 FR IR - SHE H S H il & 7 i B
K GG R A 0.2 39,400 7,880
B AGEAE B =S A 1.0 24,900 24,900
BKIERE =5 A 1.0 25,300 25,300
B HEH H 1.0 18,400 18,400 |D270PSH! 3~5t
iy B ERea % 24.90% 76,480 19,043
—E B RS % 21.30% 95,523 20,346
a2 & 115,869 115,869 58,080
(e AR )
A R 9 & K LA EiR EEE 1 B 470
4 FrR JER - STk T H A & KA i B
TRk e (Seml) L 129.0 111.9 14,435 |5 iy I
K EETR Ry A 0.2 39,200 7,840
K B Kk A 1.0 24,700 24,700
BKERE KR A 1.0 25,100 25,100
HE TR H 1.0 13,000 13,000 |D270PSH! 3~5t i
HE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
B s A P AR - R % 24.90% 103,475 25,765
—E B AR AR R e SR R % 21.30% 129,240 27,528
& & 156,768 156,768 57,640
(e AR R )
Hf = 10 & K AL i 1 B 470
% B AR - SHE B | % & HL Al & %A i 2
K HEE Ky A 0.2 39,200 7,840
B AGEKE B Ky A 1.0 24,700 24,700
BKERE Ry A 1.0 25,100 25,100
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
B E P Ve HECRE - i % 24.90% 76,040 18,933
—E B Ve HEOR P - i % 21.30% 94,973 20,229
& & 115,202 115,202 57,640
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K AiE s (i i/ W= L 38 )
LR IES 11 % K i iE R s 1 B 470
EAR AR - SHE H oA | % & H A & KA i 2
FRREL g () L 129.0 111.9 14,435 | E iy I
K EE KR A 0.2 39,200 7,840
KIS B Ry A 1.0 24,700 24,700
BKERE R Ry A 1.0 25,100 25,100
THE TR H 1.0 13,000 13,000 |D270PSH! 3~5¢t i
HHE HEH H 1.0 18,400 18,400 |D270PSH 3~5t R
e P I ke /B AL S % 24.40% (103,475) 25,247
— RE B R VRN % 21.30% (128,722) 27,417
& & 156,139 156,139 57,640
K LA HE A (e e 7 T B )
HAf R 12 %5 K AL BEF 1 B 470
% B JER - STk E T H M & FH il B
K EETR Ry A 0.2 39,200 7,840
B KEE B RlR; A 1.0 24,700 24,700
BKERE KRy A 1.0 25,100 25,100
B HEH H 1.0 18,400 18,400 |D270PST 3~5t i
B s B gk WRE LIS % 24.40% (76,040) 18,553
—E B il W LS % 21.30% (94,593) 20,148
& i 114,741 114,741 57,640
WK A E i (REAPE I\ ACHE AP )
Hf = 13 & K L fRiE S s 1 B 470
% B AR - SHE B | % & HL Al & %A i 2
FRREL g (S ) L 129.0 105.9 13,661 [REAIR
K 56 HEAR A 0.2 39,400 7,880
BAGHEKE B HEAR A 1.0 24,900 24,900
BKiERE HEAR A 1.0 25,300 25,300
THE LR H 1.0 13,000 13,000 |D270PSH! 3~5t i
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
Bl e REA V- )\ « A 0 T 6 % 24.90% 103,141 25,682
— i B REA - )\ {7 « AT L S % 21.30% 128,823 27,439
a5 156,262 156,262 58,080
T K AR HE (REARHE, J\ACHE, ATEHH )
AR 14 %5 K AR A BEF 1 B 470
4 B JER - TR Hfr B &= H M & KA i B
KGR HEAR A 0.2 39,400 7,880
B KEE B REAR A 1.0 24,900 24,900
BAKERE RER A 1.0 25,300 25,300
HHE it H H 1.0 18,400 18,400 |D270PSH! 3~5t i
B E B REAC U + )\ PRV - A AL % 24.90% 76,480 19,043
— R REAYE - )\ PR - AP P AL % 21.30% 95,523 20,346
& & 115,869 115,869 58,080
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K AiE s CBUIFHE, RoHE, EAHS)
LR IES 15 % K i iE R s 1 B 470
EAR AR - SHE H oA | % & H A & KA i 2
FRREL X (Ha ) L 129.0 111.9 14,435 | K4y I
K ERT% Koy A 0.2 39,400 7,880
KIS B Ko7 A 1.0 24,800 24,800
BKERE Ko7 A 1.0 25,200 25,200
THE TR H 1.0 13,000 13,000 |D270PSH! 3~5¢t i
HHE HEH H 1.0 18,400 18,400 |D270PSH 3~5t R
e P BIIRFHE « Koo vk - e ff ik % 24.90% 103,715 25,825
— RE B BHFHE « R Gy 1 « A % % 21.30% 129,540 27,592
& & 157,132 157,132 57,880
K LA HE A CRUIRF . KA HE PEAEHE)
HAf R 16 %5 K AL BEF 1 B 470
% B JER - STk E T H A & FH il B
K EETR Koy A 0.2 39,400 7,880
B KEE B Koy A 1.0 24,800 24,800
BKERE Koy A 1.0 25,200 25,200
B HEH H 1.0 18,400 18,400 |D270PST 3~5t i
B s B BIRFHE « Ky vk - e Af % 24.90% 76,280 18,993
—E B BT HS « K5y s - e A % 21.30% 95,273 20,293
& i 115,566 115,566 57,880
K i s (R Z2HE)
HAfFE 17 & K i E R s 1 B 470
% FR AR - STiE B | &% &= B Al & FH i B
FRREL 05 () L 129.0 111.9 14,435 | K4y I
KGR Ko7 A 0.2 39,400 7,880
B KGEE B Koy A 1.0 24,800 24,800
BKERE Koy A 1.0 25,200 25,200
B el H 1.0 13,000 13,000 |D270PST 3~5t i
HHE L H H 1.0 18,400 18,400 |D270PSH 3~5t i
B s A Koy Ze Pk % 23.90% 103,715 24,787
— % Koy Ze Pk % 21.30% 128,502 27,370
& & 155,872 155,872 57,880
TE K ik (Rorzeik)
Hf R 18 & K L AHEH e 1 H Y7Y
% B AR - SHE HAr ¥ &= H Al & KA i 2=
KGR Koy A 0.2 39,400 7,880
B AGEAS B Koy A 1.0 24,800 24,800
BKEXRE Koy A 1.0 25,200 25,200
HE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
B s B K2R % 23.90% 76,280 18,230
—E B Koy Ze Pk % 21.30% 94,510 20,130
& & 114,640 114,640 57,880
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T K s (HT IR %)
LRES 19 = oK s Hlis 1 B %7v
% B R - STk H o | &% & H M 4 KA i
FRREL 2 (ki) L 129.0 110.9 14,306 | =iy b
KGR Ei5 A 0.2 39,300 7,860
B AKGEE B =5 A 1.0 24,700 24,700
BKEXE =5 A 1.0 25,100 25,100
Ei=Us TR H 1.0 13,000 13,000 [D270PSHY 3~5t
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
By E B I % 24.90% 103,366 25,738
— R B (= aReS % 21.30% 129,104 27,499
& & 156,603 156,603 57,660
T K ik (e IRFHE)
HAfF 20 75 K AR A Bt 1 H %7v
% R AR - STE H x| %% & H A & %A i B
K EE B A 0.2 39,300 7,860
B AGHEKE B =15 A 1.0 24,700 24,700
BK LA E =15 A 1.0 25,100 25,100
HHE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
B E B BN % 24.90% 76,060 18,938
—E B B Ik % 21.30% 94,998 20,234
a5 115,232 115,232 57,660
K A s (FE V% - 40 W - AT 7R )
B 21 & K A E S JEEE 1 H 70
% FrR 2N RS B | &% & H AW & R i 2
TRk 2 (i) L 129.0 108.9 14,048 [FE I 5 IR
KGR RV A 0.2 39,500 7,900
B AKGEE B ) A 1.0 24,800 24,800
BKERE RV S A 1.0 25,300 25,300
HE TR H 1.0 13,000 13,000 [D270PSH! 3~5t
Ei-Us Ht H 1.0 18,400 18,400 [D270PS%! 3~5¢t
Bl A JEE VT o e « 7 Wi + TG % 24.90% 103,448 25,758
—E B i L I P+ 47 Wl - A % 21.30% 129,206 27,520
& & 156,726 156,726 58,000
TE K ik (B VR sk - 4n ik - 75 A 7B k)
HAfF 22 5 T K AL BEF] 1 B 470
EAR S AR - SHE Hoor | B & H A & %A i =
K 56 Ve A 0.2 39,500 7,900
B AGEKE B JEE A 1.0 24,800 24,800
BKEAE S A 1.0 25,300 25,300
B HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
B E B JEE V2 o Ak « 4 Ak - A R % 24.90% 76,400 19,023
— % JEE VT I - 4 i - i A Sk % 21.30% 95,423 20,325
& & 115,748 115,748 58,000
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T K - fi i

(P18 V&)
LRES 23 & oK s Hlis 1 B %7v

% B AR - SHE H o | &% & H M 4 KA i 2
FRREL 2 (ki) L 129.0 108.9 14,048 [ B IR
KGR ) A 0.2 39,500 7,900
B AKGEE B FE VRS A 1.0 24,800 24,800
BKERE FE VRS A 1.0 25,300 25,300
Ei=Us TR H 1.0 13,000 13,000 [D270PSHY 3~5t
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t i
By E B Tefe vl e % 27.68% 103,448 28,634
—E B TE 1 PR+ % 21.30% 132,082 28,133

& & 160,215 160,215 58,000

N N by X 6 E| (F51E #EiE =

HAfF 24 5 K AR A BEF 1 B 470

% R AR - STE H x| %% & H A & %A i B
K ERTR JEE A 0.2 39,500 7,900
B AGHEKE B JE A 1.0 24,800 24,800
BAKERE JEE A 1.0 25,300 25,300
THE HEH H 1.0 18,400 18,400 |D270PSH! 3~5t
Bl Fe 18 Vi 5 % 27.68% 76,400 21,147
— i P Ta 16 HElE 5 % 21.30% 97,547 20,777

& & 118,324 118,324 58,000
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